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MathConceptition

2023

Time: 50 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

4. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

5. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 15x36=7? [1%]
2) 96+12=7 [1%]
3) 406x28="? [1%]
4) 864+27=7 [1%]
5) 22x19x50=7? [1%]
6) 952+17+14=2? [1%]
7) 34 x238+262x34=2 [1%]
8 506-418+22x16="7 [1%]
9) 189+756+63—-18="7? [1%]
10) (8200 —7521) x 24+ 321 x 24 =7 [1%0]
11) 492 —-(387-9x29)="? [1%]
12) 185+518+(14+23)="? [1%]
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For question 13 to 15, the answers must be expressed in proper fraction,

integer or mixed number.

B3 13 £ 158 > ERWADEDNR - BEEH BT -

10
13) Evaluate3—5—E+ﬁ, [1%]
39 39 39

35_16 34
39 39 39

o

T AR
BT HEL

0
14) Evaluate 7—1%—2%. [1%]

5 8
S 71222 -
f 9 "9

2 7 9 1%
15) Evaluate 8 ——|4—-1—|. [1%]
11 11 11

s 83—[41—13j :

11 11 11
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1 29
16) A is a prime number. If 12<£<2i and3—7<—,ﬁnd the value [2%]
38 38 38
of 4.
31 4 5 37 1
AT (EEE] - l—<—<2—f1 —<—= > KAWE -
B - 4R 35 <35 <233 %DA . K ARE

17)  One of the angles of a figure is an obtuse angle. If two of its sides ~ [2.1%0]
are a pair of parallel lines, which of the following shapes does the
figure belong to? List all possible answers.

FEPHVE T —EAEHA - MRTEH TR REE 5T
& ZEICEH TFIHMERR ? FIHATE ARy &2 -

A) Square [F HF B) Rectangle £ 5
C) Rhombus Z D) Isosceles triangle ZEiE = A1

E) Trapezium #£7 F) Parallelogram “E{TVUE
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18) Find the Highest Common Factor of 156, 234 and 273. [2.2%]
3K 156 ~ 234 1 273 BYE AR AN REL -

19) A parallelogram is formed by 4 identical isosceles triangles. 2 of [2.3%]
the sides of the triangle are 8 cm and 10 cm. If one of the sides of
the parallelogram is 16 cm, what 1s the perimeter of the
parallelogram in cm?

—(ERFT VYR 2 FHVEAH [E R SRR = AP AR - = APy
HAP R REE 8 ERAT 10 [EDR o NRSPFATIUE R E 1 —({
B 16 EOK - BTSN E FE 2% DK ?
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20) A box of colour pens costs $864, containing 24 colours of pens. [2.4%]
There are a half dozen pens of each colour. How much do
26 colour pens cost in dollars?

—REACEAERE R 864 7T » E TPELAL 24 TEEAM - (AR
OAE-FTE - HE 26 REHEOERVEHEZEZ /DT ?

0
21) There were 3 pizzas on a table. Mike and Nick each ate % of a [2.5%]

pizza, while Pasty and Sue ate % of a pizza and é of a pizza

respectively. How many pizzas are left? Give the answer 1n its
simplest form.

F1 B 3 {EEE - HEAERSIZ T —{I/ G NIES VG b

E5r RNz T = 1I$D P {I HIEE - R NEEFEE 7 B

I

M»E%’JEE'F‘;%
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22) A pack of red beans weighs 650 g. A pack of green beans is 117 g [2.6%]
lighter than a pack of red beans. If 2 packs of green beans are
mixed with 3 packs of red beans, and the mixed beans are divided
into 13 bowls evenly, how many grams does each bowl of mixed
beans weigh?

—HEIALHE 650 57 » —HISR TR —HALTES 117 3¢ - 4154
2 HER M 3 BALRGR 90~ 13 B BhUESHVEE
%V ?

23) Express 12.0625 as a fraction in its simplest form. [2.7%]
1 12.0625 LUES T EY > W4V R A o




MathConceptition 2023

24)  If the 6-digit number 894324 is divisible by 6, find 4. [2.8%]
AR 7T E 894324 FILIHS 6 #2Fk - 5K 4 -

25) Arectangle of perimeter 432 cm is cut into five identical squares. [2.9%]
The squares are used to form the figure below. What is the
perimeter of the figure in cm?

— {5 R 432 [ECREVR T VIBE R EAHFERVIE T - 2L
IEAE AR TEHEL TEVEY - B EFUE 2 DEDK 2
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26) Find the Least Common Multiple of 24, 90 and 110. [3%]
K 24~ 90 K 110 B/ VAL -
: 3 : : [3.1%]
27) If Ronald gives $IZB to David, they will have the same amount of

3
money. On the other hand, if Queenie gives $ 22; to Ronald, they

will also have the same amount of money. How much more does
Queenie have than David?

RIS 7K SE $12— S AR SRR © 55— 0 A

RELGDRE $22— Mg EHEE R - AEEIG AN S

a0
BbAZEZ 2D TT: :
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28) A square of perimeter 3.36 m is formed by 21 identical rectangles. ~ [3-2%]
If the length of a rectangle is 28 cm, the perimeter of the rectangle
is__? cm.

— i E 5 R 3.36 SRAVIETT & 21 (B FAY R ATAHAL -
MR ERGTEHRE 28 K » &GP EFE

7 JEDK -
29) Emily throws a beanbag 15 m away to the right. She first walks [3.3%]

30 m forwards, then turns left and walks 15 m forwards. If the left
of Emily is pointing to the south-east, sheistothe _ ? ofthe

beanbag.

INES 75 1S b — (T 48 - MSREATIT 30K - AN&H
U TR 155K - W/ NS I/ T BT T » /NS
TS 2

A) eastF 5 B) south-east B g /5
C) southFg 5 D) south-west PHEg
E) west5)5 F) north-west Fg1575
G) north 57 H) north-east 5L
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30) Nisa 3-digit number. It is divisible by 3, 6 and 8. What is the [3.4%]
difference between the largest and smallest possible values of N?

NZ—{E =A% - ERTLHE 3 ~ 6 M1 8 B[Pk N HYm AR/ NA]
REHZ =2/ 7

31) From 1 to 2023, find the units digit of the product of all numbers [4%]
with 3, 7 and 9 as their units digits.

A 1% 2023 > SKATAEIALERy 3 ~ 7 K 9 YR Z FRrY iz
e -
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32) Find the value of 15 x 5400 — 1500 x 44 + 1105 x 9 — 11 x 2092. [4.1%]
3K 15 % 5400 — 1500 x 44 + 1105 x 9 — 11 x 2092 {{H -

33) Find the value of the 11" term of the following sequence. [4.2%]
SKEL A 11 IHAYE -
500, 489, 476, 459, 440, 417, 388, ...
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34) How many parallelograms are there in the figure below? [4.3%]

NE I E P TIER ?

=

9+25+49+---+9801-2x(3+5+7+---4+99) [4.4%]

35) Find the value of 198x194+194x190+190 <186 +---+6x2

* 9+25+49+4---+9801-2x(3+5+7+---+99) HfE -

198x194+194x190+190x186+---+6x2
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36) Inadeck of red, blue and green cards, there are 9 cards of each [4.5%]
colour, numbered from 1 to 9. Choosing 2 cards from the deck, how

many combinations are there such that the product of 2 numbers
can be divisible by 6?

A8 LAE - BEEORISRER R - SEEE 9RRE > &
TNETEE 129 o fe P W > (W (BT 2 AR F e
6 BEPRAVEH S 2/ D (E ?

37) The figure below shows a rectangle, which has a triangle inside. [4.6%]
If the area of the triangle is 456 cm?, the area of the rectangle is

7?7  cm?

TEER T —ERG - RAPRA—E=AF - AR =AI
IETRE 456 “F5ECK > RAPMERE 2 FI5EX -
fe—38 cm ———>|

14 cm

l— 19 cm —
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38) The product of the Highest Common Factor and the Least Common [4.7%]
Multiple of two numbers is 8379. If the Highest Common Factor of
these two numbers is a 2-digit number, find the difference between
these two numbers.

R BT A A PRI N (B B 8379  AISRIS R
W R SRS — R SRS R 3 -

39) Nis a 3-digit even number. When N is divided by 3 and 7, the [4.8%]
remainders are 1 and 4 respectively. What is the largest possible
value of N?

NE—(E=r%E% - & NEREL3 M 78S > 880 Rk 1A 4 -
N WK ARE(EZE S /D ?
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40) Draw the 5™ figure. [4.9%]
= L5 5 (EEE -

J
A
&

End of paper
e
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